CHAPTER 13

Corporations: Organization and

Capital Stock Transactions

ASSIGNMENT CLASSIFICATION TABLE

Brief A B
Learning Objectives Questions Exercises Do lt! Exercises Problems Problems
1.  Identify the major 1,2,3,4 1 1 1,2
characteristics of
a corporation.
2. Differentiate between 5,6,8,9, 2 2 2 3A, 4A 3B, 4B
paid-in capital and 11, 14,15
retained earnings.
3. Record the issuance 7,10, 11, 3,4,5 3 3,4,5,6, 1A, 3A, 1B, 3B,
of common stock. 12,17 11,13 4A, 6A 4B, 6B
4. Explain the accounting 7,13, 14, 6 4 5,7,8, 2A, 3A,6A 2B, 3B, 6B
for treasury stock. 15, 18 11,13
5. Differentiate preferred 16 7 5,9, 10, 1A, 4A,6A 1B, 4B, 6B
stock from common stock. 11,13
6. Prepare a stockholders’ 18, 19 8 5 9,12, 13, 1A, 2A, 3A, 1B, 2B, 3B,
equity section. 14, 15 4A, 5A, 6A 4B, 5B, 6B
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ASSIGNMENT CHARACTERISTICS TABLE

Problem Difficulty Time
Number Description Level Allotted (min.)
1A Journalize stock transactions, post, and prepare Simple 30-40
paid-in capital section.
2A Journalize and post treasury stock transactions, Moderate 3040
and prepare stockholders’ equity section.
3A Journalize and post transactions, and prepare Complex 40-50
stockholders’ equity section.
4A Journalize and post stock transactions, and prepare Moderate 3040
stockholders’ equity section.
5A Prepare stockholders’ equity section. Simple 20-30
6A Prepare entries for stock transactions and prepare Moderate 20-30
stockholders’ equity section.
1B Journalize stock transactions, post, and prepare Simple 30-40
paid-in capital section.
2B Journalize and post treasury stock transactions, Moderate 3040
and prepare stockholders’ equity section.
3B Journalize and post transactions, and prepare Moderate 30-40
stockholders’ equity section.
4B Journalize and post stock transactions, and prepare Moderate 3040
stockholders’ equity section.
5B Prepare stockholders’ equity section. Simple 20-30
6B Prepare entries for stock transactions and prepare Moderate 20-30
stockholders’ equity section.
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WEYGANDT ACCOUNTING PRINCIPLES 11E

CHAPTER 13
CORPORATIONS: ORGANIZATION AND CAPITAL STOCK
TRANSACTIONS

Number LO BT Difficulty Time (min.)
BE1 1 K Simple 4-6
BE2 2 AP Simple 1-2
BE3 3 AP Simple 2-3
BE4 3 AP Simple 2-3
BES 3 AP Simple 2-4
BE6 4 AP Simple 4-6
BE7 5 AP Simple 2-3
BES8 6 AP Simple 4-6
DI1 1 K Simple 2-4
DI2 2 AP Simple 4-6
DI3 3 AP Simple 4-6
Dl4 4 AP Simple 4-6
DI5 6 AP Simple 6-8
EX1 1 K Simple 6-8
EX2 1,2 K Simple 6-8
EX3 3 AP Simple 6-8
EX4 3 AP Simple 8-10
EX5 3-5 AP Simple 6-8
EX6 3 AP Simple 4-6
EX7 4 AP Simple 8-10
EX8 4 AP Simple 8-10
EX9 5,6 AP Simple 8-10
EX10 5 AP Simple 6-8
EX11 3-5 AN Moderate 8-10
EX12 6 AP Simple 8-10
EX13 3-6 C, AP Simple 6-8
EX14 6 AP Simple 8-10
EX15 6 C Simple 4-6
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CORPORATIONS: ORGANIZATION AND CAPITAL STOCK

TRANSACTIONS (Continued)

Number LO BT Difficulty Time (min.)
P1A 3,56 AP Simple 30-40
P2A 4,6 AP Moderate 3040
P3A 2,3,4,6 AP Complex 40-50
P4A 2,3,5 6 AP Moderate 3040
P5A 6 AP Simple 20-30
P6A 3-6 AP Moderate 20-30
P1B 3,56 AP Simple 30-40
P2B 4,6 AP Moderate 3040
P3B 2,3,4,6 AP Moderate 3040
P4B 2,3,5 6 AP Moderate 3040
P5B 6 AP Simple 20-30
P6B 3-6 AP Moderate 20-30
BYP1 AP Simple 10-15
BYP2 AP Simple 10-15
BYP3 AP Simple 10-15
BYP4 C Simple 8-12
BYP5 1,4,5 C Moderate 15-20
BYP6 1,5 S Simple 10-15
BYP7 — E Simple 10-15
BYPS8 1 S Simple 15-20
BYP9 — AP Simple 10-15
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Correlation Chart between Bloom’s Taxonomy, Learning Objectives and End-of-Chapter Exercises and Problems

Learning Objective Knowledge| Comprehension Application Analysis Synthesis Evaluation
1. Identify the major Q13-4 Q131
characteristics of BE13-1 Q13-2
a corporation. DI13-1 Q13-3
E13-1
E13-2
2. Differentiate between Q13-5 Q13-6 Q13-11|BE13-2 P13-4A
paid-in capital and retained |[E13-2 Q13-8 Q13-14|DI13-2 P13-3B
earnings. Q13-9 Q13-15(P13-3A P13-4B
3. Record the issuance of Q13-10 Q13-7 E13-5 P13-4A(E13-11
common stock. Q13-11 BE13-3 E13-6 P13-6A
Q13-12 BE13-4 E13-13 P13-1B
Q13-17 BE13-5 P13-1A P13-3B
E13-13 DI13-3 P13-3A P13-4B
E13-3 P13-6B
E13-4
4. Explain the accounting for Q13-13 E13-13 |Q13-7 E13-13 P13-2B|E13-11
treasury stock. Q13-14 BE13-6 P13-2A P13-3B
Q13-15 DI13-4 P13-3A P13-6B
Q13-18 E13-5 P13-6A
E13-7
E13-8
5. Differentiate preferred Q13-16 BE13-7 E13-13 P13-1B|E13-11
stock from common stock. E13-13 E13-5 P13-1A E13-9
P13-4B E13-10 P13-4A
P13-6B P13-6A
6. Prepare a stockholders’ Q13-18 BE13-8 P13-2A P13-2B
equity section. Q13-19 DI13-5 P13-3A P13-3B
E13-13 E13-9 P13-4A P13-4B
E13-15 E13-12 P13-5A P13-5B
E13-13 P13-6A P13-6B
E13-14 P13-1B
P13-1A
Broadening Your Perspective Decision Making |Financial Reporting Communication |Ethics Case

Across the
Organization

Comparative Analysis
FASB Codification

Real-World Focus
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1. (a)
(b)
(c)

2. (a)
(b)

3. (a)

ANSWERS TO QUESTIONS

Separate legal existence. A corporation is separate and distinct from its owners and it acts
in its own name rather than in the name of its stockholders. In contrast to a partnership, the
acts of the owners (stockholders) do not bind the corporation unless the owners are agents
of the corporation.

Limited liability of stockholders. Because of its separate legal existence, creditors of a corpora-
tion ordinarily have recourse only to corporate assets to satisfy their claims. Thus, the liability
of stockholders is normally limited to their investment in the corporation.

Transferable ownership rights. Ownership of a corporation is shown in shares of capital stock.
The shares are transferable units. Stockholders may dispose of part or all of their interest by
simply selling their stock. The transfer of ownership to another party is entirely at the discretion
of the stockholder.

Corporation management is an advantage to a corporation because it can hire professional
managers to run the company. Corporation management is a disadvantage to a corporation
because it prevents owners from having an active role in directly managing the company.
Two other disadvantages of a corporation are government regulations and additional taxes.
A corporation is subject to numerous state and federal regulations. For example, state laws
prescribe the requirements for issuing stock, and federal securities laws govern the sale of
stock to the general public. Corporations must pay both federal and state income taxes. These
taxes are substantial. In addition, stockholders must pay income taxes on cash dividends
received.

(1) A charter is a document that creates a corporation. A charter is also referred to as the
articles of incorporation.

(2) The by-laws are the internal rules and procedures for conducting the affairs of a
corporation. They also indicate the powers of the stockholders, directors, and officers of
the corporation.

(3) Organization costs are costs incurred in the formation of a corporation. Organization
costs are expensed as incurred.

Incorrect. A corporation must be incorporated in only one state. It is to the company’s advantage

to incorporate in a state whose laws are favorable to the corporate form of business

organization. A corporation may incorporate in a state in which it does not have a headquarters
office or major operating facilities.

4. In the absence of restrictive provisions, the basic ownership rights of common stockholders are
the rights to:

(a)

(b)
(c)

(d)
5. (a)

(b)

vote in the election of board of directors and in corporate actions that require stockholders’
approval.

share in corporate earnings through the receipt of dividends.

keep the same percentage ownership when new shares of common stock are issued (the
preemptive right).

share in assets upon liquidation.

The two principal components of stockholders’ equity for a corporation are paid-in capital
(the investment of cash and other assets in the corporation by stockholders in exchange for
capital stock) and retained earnings. The principal source of retained earnings is net
income.

Paid-in capital is the term used to describe the total amount paid-in on capital stock. Paid-in
capital may result through the sale of common stock, preferred stock, or treasury stock.
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Questions Chapter 13 (Continued)

10.

11.
12.

13.

14.

Each of the three basic financial statements for a corporation differs from those for a proprietorship.
The income statement for a corporation will have income tax expense. For a corporation, a retained
earnings statement is prepared to show the changes in retained earnings during the period. In
the balance sheet, the owner’s equity section is called the stockholders’ equity section.

The maximum number of shares that a corporation is legally allowed to issue is the number
authorized. Luney Corporation is authorized to sell 100,000 shares. Of these shares, 70,000 shares
have been issued. Outstanding shares are those issued shares which have not been reacquired
by the corporation; in other words, issued shares less treasury shares. Luney has 63,000 shares
outstanding (70,000 issued less 7,000 treasury).

The par value of common stock has no effect on its market value. Par value is a legal amount per
share which usually indicates the minimum amount at which a share of stock can be issued. The
market value of stock depends on a number of factors, including the company’s anticipated future
earnings, its expected dividend rate per share, its current financial position, the current state of
the economy, and the current state of the securities markets. Therefore, either investment mentioned
in the question could be the better investment, based on the above factors and future potential.
The relative par values should have no effect on the investment decision.

Among the factors which influence the market value of stock are the company’s anticipated
future earnings, its expected dividend rate per share, its current financial position, the current
state of the economy, and the current state of the securities markets.

The issuance of stock does not have any effect on the issuer’s net income. If stock is issued at a
price above par, the excess is credited to a stockholders’ equity account, Paid-in Capital in Excess
of Par. This excess is part of the company’s paid-in capital.

The sale of common stock below par value is not permitted in most states.

When stock is issued for services or noncash assets, the cost should be measured at either
the fair value of the consideration given up (in this case, the stock) or the fair value of the
consideration received (in this case, the land), whichever is more clearly evident. In this case, the
fair value of the stock is more objectively determinable than that of the land, since the stock is
actively traded in the securities market. The appraised value of the land is merely an estimate of
the land’s value, while the market price of the stock is the amount the stock was actually worth on
the date of exchange. Therefore, the land should be recorded at $95,000, the common stock at
$20,000, and the excess ($75,000) as paid-in capital in excess of par.

A corporation may acquire treasury stock: (1) to reissue the shares to officers and employees
under bonus and stock compensation plans, (2) to increase trading of the company's stock and
signal that management believes the stock is underpriced, which they hope will enhance its
market price, (3) to have additional shares available for use in the acquisition of other companies,
(4) to reduce the number of shares outstanding and thereby increase earnings per share, (5) to
eliminate hostile investors, perhaps to avoid a takeover.

When treasury stock is purchased, treasury stock is debited and cash is credited at cost ($12,000
in this example). Treasury stock is a contra stockholders’ equity account and cash is an asset. Thus,
this transaction: (a) has no effect on net income, (b) decreases total assets, (c) has no effect on
total paid-in capital, and (d) decreases total stockholders’ equity.
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Questions Chapter 13 (Continued)

15.

16.

17.

18.

19.

When treasury stock is resold at a price above original cost, Cash is debited for the amount of the
proceeds ($16,000), Treasury Stock is credited at cost ($12,000), and the excess ($4,000) is
credited to Paid-in Capital from Treasury Stock. Cash is an asset, and the other two accounts are
part of stockholders’ equity. Therefore, this transaction: (a) has no effect on net income, (b) increases
total assets, (c) increases total paid-in capital, and (d) increases total stockholders’ equity.

(@) Common stock and preferred stock both represent ownership of the corporation. Common stock
signifies the basic residual ownership; preferred stock is ownership with certain privileges or
preferences. Preferred stockholders typically have a preference as to dividends and as to assets
in the event of liquidation. However, preferred stockholders generally do not have voting rights.

(b) Some preferred stocks possess the additional feature of being cumulative. Most preferred
stock is cumulative—preferred stockholders must be paid both current-year dividends and
unpaid prior year dividends before common stockholders receive any dividends.

(c) Dividends in arrears are disclosed in the notes to the financial statements.

Par value is a legal amount per share, often set at an arbitrarily selected amount, which usually
indicates the minimum amount at which a share of stock can be issued. Market value is generally
unrelated to par value. A stock’s market value will reflect many factors, including the company’s
anticipated future earnings, its expected dividend rate per share, its current financial position, the
current state of the economy, and the current state of the securities markets.

The answers are summarized in the table below:

Account Classification

(@) Common Stock Paid-in capital—capital stock
(b) Paid-in Capital in Excess of Par—
Common Stock Paid-in capital—additional paid-in capital
(c) Retained Earnings Retained earnings
(d) Treasury Stock Deducted from total paid-in capital and retained
earnings
(e) Paid-in Capital from Treasury Stock Paid-in capital—additional paid-in capital
(f) Paid-in Capital in Excess of Stated
Value—Common Stock Paid-in capital—additional paid-in capital
(g) Preferred Stock Paid-in capital—capital stock

Apple had 929 million outstanding shares at September 24, 31, 2011 and 916 million shares at
September 25, 2010.

13-8

Copyright © 2013 John Wiley & Sons, Inc.  Weygandt, Accounting Principles, 11/e, Solutions Manual ~ (For Instructor Use Only)



SOLUTIONS TO BRIEF EXERCISES

BRIEF EXERCISE 13-1

The advantages and disadvantages of a corporation are as follows:

Advantages Disadvantages
Separate legal existence Corporation management—
Limited liability of stockholders separation of ownership
Transferable ownership rights and management
Ability to acquire capital Government regulations
Continuous life Additional taxes

Corporation management—
professional managers

BRIEF EXERCISE 13-2

Dec.31 Income Summary......ccccccceceviremmremnnnssnssssnseens 480,000
Retained Earnings......cccccooveeciiiieennnes 480,000

BRIEF EXERCISE 13-3

May 10 Cash (2,000 X $18)....ccceerrriiiiiiiiiiicccccccceceeee 36,000
Common Stock (2,000 X $10)............... 20,000
Paid-in Capital in Excess of Par—
Common Stock (2,000 X $8)............. 16,000

BRIEF EXERCISE 13-4

June 1 Cash (4,000 X $6).......coeemmmmmeeiciiiiiirrrer e, 24,000
Common Stock (4,000 X $1)................. 4,000
Paid-in Capital in Excess of Stated
Value—Common Stock
(4,000 X $5)..ccciieeemeeeecccreee e e 20,000
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BRIEF EXERCISE 13-5

Land (5,000 X $15) ...coemmeecciciiiiririeeeerrrcesess s e e e e e e e e e e e eennees 75,000
Common Stock (5,000 X $10) .....cccevrrrrrrrrerrriieinnnnn. 50,000
Paid-in Capital in Excess of Par—Common
Stock (5,000 X $5) ......euummmmmmmrrrrririrreee e e 25,000

BRIEF EXERCISE 13-6

July 1 Treasury Stock (500 X $9)......ccccevvvvvvviiiiinne. 4,500
CasSh . 4,500
Sept.1  Cash (300 X $11) ... e 3,300
Treasury Stock (300 X $9)........ccceeeenenn. 2,700
Paid-in Capital from Treasury
Stock (300 X $2)......cccccrrerrrriccnnnnenenas 600

BRIEF EXERCISE 13-7

Cash (5,000 X $130) .....cccccciiicinmmmmnmeee e s 650,000
Preferred Stock (5,000 X $100)..........ccceeeevveeicnnnee 500,000
Paid-in Capital in Excess of Par—Preferred
Stock (5,000 X $30) ......ccccmmererrrriccnneeeer snneeeeeeea 150,000

BRIEF EXERCISE 13-8

Stockholders’ equity
Paid-in capital
Capital stock
Common stock, $10 par value, 5,000 shares

issued and 4,500 shares outstanding ..................... $ 50,000
Additional paid-in capital
In excess of par—common stockK.......cccccceeivirrrecennnnnnn. 30,000
Total paid-in capital .......c..cceerreeiric e, 80,000
Retained earnings.........ccccciiimmmeciiimrc e 45,000
Total paid-in capital and retained earnings ........ 125,000
Less: Treasury stock (500 common shares)............ccec...... 11,000
Total stockholders’ equity ......cc.ccooereciiirienciiinen s $114,000
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SOLUTIONS FOR DO IT! REVIEW EXERCISES

DO IT! 131

1. True.

2. True.

3. False. Additional government regulation is a disadvantage of the cor-

porate form of business.
True.
False. No-par value stock is quite common today.

ok

DO IT! 13-2

(@) Income SUMMArY.......cc.cciiiimmrececrr e e 236,000
Retained Earnings .......ccccccovimmeciiineeciiccenneees 236,000
(To close Income Summary and transfer
net income to retained earnings)

(b) Stockholders’ equity
Paid-in capital

CommonN StOCK ......ceeeeiirreniiirereiirreserenas $1,000,000
Retained earnings.........ccccccoimireiiiincensccenennes 236,000
Total stockholders’ equity................ $1,236.000
DO IT! 13-3
Apr.1  Cash...... e e e 780,000
Common StOCK ......cvveiiiiieiirirre e e 300,000
Paid-in Capital in Excess of Par—
Common StocCK.......coveirmiieireiienirene s 480,000
(To record issuance of 60,000 shares
at $13 per share)
Apr. 19 Organization Expense ......cccccveeciiireenninnnee. 27,500
Common StoCK .....cccevieiimiirirerr e e 10,000
Paid-in Capital in Excess of Par—

Common StocCK ......c.cecvveiimireiienirereann, 17,500
(To record issuance of 2,000 shares
for attorney’s fees)
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DO IT! 13-4

Aug. 1 Treasury StocCK .......ccceemciiirrrrncenn s eeeenes 130,000
Cash...crr s 130,000
(To record the purchase of
2,000 shares at $65 per share)

D 1= o I 0~ T o T 86,400
Treasury StocK......vveeeceiiiiirreecer e 78,000
Paid-in Capital from Treasury Stock...... 8,400

(To record the sale of 1,200 shares
at $72 per share)
DO IT! 13-5

ANDERS CORPORATION
Balance Sheet (partial)

Stockholders’ equity
Paid-in capital
Capital stock

7% preferred stock, $100 par value,
10,000 shares authorized, 2,000
shares issued and outstanding............. $ 200,000

Common stock, $5 par value, 500,000
shares authorized, 100,000 shares

issued, and 93,000 shares outstanding... 500,000
Total capital stock .........cceeerreniriennnnee. 700,000
Additional paid-in capital
In excess of par—preferred stock............... $ 23,000
In excess of par—common stock................ 240,000
From treasury stock.........ccccoormmmiiirrenninnnnn. 47,000
Total additional paid-in capital........... 310,000
Total paid-in capital.........cc..cccevreennnnee. 1,010,000
Retained earnings ........c.ccvveiiiimmeciiine crreesrnnees 372,000
Total paid-in-capital and
retained earnings.......ccccccoovvrenniinnen. 1,382,000
Less: Treasury stock
(7,000 common shares) (at cost) ............... (46,000)
Total stockholders’ equity .................. $1,336.000
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SOLUTIONS TO EXERCISES

EXERCISE 13-1

True.
True.

False. Most of the largest U.S. corporations are publicly held corporations.
True.

False. The net income of a corporation is taxed as a separate entity.

o gk WON-=

False. Creditors have no legal claim on the personal assets of the
owners of a corporation if the corporation does not pay its debts.

7. False. The transfer of stock from one owner to another does not require
the approval of either the corporation or other stockholders; it is entirely
at the discretion of the stockholder.

8. False. The board of directors of a corporation manages the corporation
for the stockholders, who legally own the corporation.

9. True.

10. False. Corporations are subject to more state and federal regulations
than partnerships or proprietorships.

EXERCISE 13-2

1. True.

2. False. Corporation management (separation of ownership and manage-
ment), government regulations, and additional taxes are the major
disadvantages of a corporation.

3. False. When a corporation is formed, organization costs are expensed
as incurred.

4. True.

5. False. The number of issued shares is always less than or equal to
the number of authorized shares.

6. False. No journal entry is required for the authorization of capital stock.

7. False. Publicly held corporations usually issue stock indirectly through
an investment banking firm.
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EXERCISE 13-2 (Continued)

8. True.
9. False. The market value of common stock has no relationship with the
par value.

10. False. Paid-in capital is the total amount of cash and other assets paid
in to the corporation by stockholders in exchange for capital stock.

EXERCISE 13-3

(@) Jan.10 Cash (70,000 X $5) ......ccceeerrrrrrrnnnnnnnnnnnnen. 350,000
Common StocK.....cccecereireiieieniennens 350,000

July 1 Cash (40,000 X $7) ...ceeeemeemerrerrrreerereenennnas 280,000
Common Stock (40,000 X $5).......... 200,000

Paid-in Capital in Excess of
Par—Common Stock

(40,000 X $2)......ccccccceinnnnnnnnnnnnnees 80,000
(b) Jan.10 Cash (70,000 X $5) ....cccceeeecmererrrrsnerrssnenns 350,000
Common Stock (70,000 X $1).......... 70,000

Paid-in Capital in Excess of
Stated Value—Common Stock

(70,000 X $4)......ccmrreerrreecnnnneeeens 280,000
July 1 Cash (40,000 X $7) ...ccceerrrimrrrrmrrrneeenns 280,000
Common Stock (40,000 X $1).......... 40,000

Paid-in Capital in Excess of
Stated Value—Common Stock

(40,000 X $6).......ccccccnnnnnnnnnnnnnnnnes 240,000
EXERCISE 13-4
(@) CasSh...cooceeiiirec e e 52,000
Common Stock (2,000 X $5) ....ccceerrrrrrrriiiiiienn. 10,000
Paid-in Capital in Excess of Par—
Common StOCK.......coieeiimiireiieccrr e e e 42,000
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EXERCISE 13-4 (Continued)

(b) Cash.... e ———_—— 52,000
Common Stock (2,000 X $5).......ccccceeerrnnnnns 10,000
Paid-in Capital in Excess of Stated
Value—Common StocK ......c.cccerevrmireninnnns 42,000
(€) CasSh..eiieecirecrrr e 52,000
Common StOCK .....ccceiieiiiiire e e e 52,000
(d) Organization Expense ......cccccoveeciiireeciirneesecnnnnn 52,000
Common Stock (2,000 X $5)........cccccceevnnnnnns 10,000
Paid-in Capital in Excess of Par—
Common StOCK .....coeeiimiireiiecir e e 42,000
(e) Land......coooiirrcr e e e e 52,000
Common Stock (2,000 X $5).......ccccceeerrnnnnns 10,000
Paid-in Capital in Excess of Par—
Common StOCK .....cceeiieiiieiiiiirec e e 42,000

EXERCISE 13-5

Mar. 2 Organization Expense ......ccccccceeiiiirmreennnnnenns 30,000
Common Stock (5,000 X $5) ......cccec...... 25,000
Paid-in Capital in Excess of Par—
Common StocK......ccoeeveveiiimirenirennenes 5,000
June 12  Cash..iiiiicir e e e e e e 375,000
Common Stock (60,000 X $5) ............... 300,000
Paid-in Capital in Excess of Par—
Common StocK......cooevimiieeiieirenirenens 75,000
July 11 Cash (1,000 X $110) ....ceerrvricccmmrrrerrreecceeeeane 110,000
Preferred Stock (1,000 X $100)............. 100,000
Paid-in Capital in Excess of Par—
Preferred Stock (1,000 X $10) ........... 10,000
Nov. 28 Treasury StocK........ccceeeeiiirimrreeeccs e 80,000
Cash...rr s 80,000
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EXERCISE 13-6

1. Land.. e
Common Stock (5,000 X $20) ..........

Paid-in Capital in Excess of Par—

Common StocCK.......coevveemrnienrnenee.

2. Land (20,000 X $11)..ccceeeeccccmmrrreerrrsensnnnns
Common Stock (20,000 X $10).........

Paid-in Capital in Excess of Par—

Common Stock (20,000 X $1).......

EXERCISE 13-7

(@) Mar. 1 Treasury Stock (50,000 X $15)

(02 11 o [,

July 1

Cash (10,000 X $17).....ccceuuneee.

Treasury Stock (10,000 X $15) ......
Paid-in Capital from Treasury

Stock (10,000 X $2) ......

Sept. 1
Paid-in Capital from Treasury

Stock (8,000 X $1)........ccee.e..

Cash (8,000 X $14)....................

Treasury Stock (8,000 X $15) ........

(b) Sept.1
Paid-in Capital from Treasury

StocK ..o,
Retained Earnings.......c...ccc.....

Cash (8,000 X $12).......cccreune..

Treasury Stock (8,000 X $15) ........

110,000

220,000

750,000

170,000

112,000

8,000

96,000

20,000
4,000

100,000

10,000

200,000

20,000

750,000

150,000

20,000

120,000

120,000
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EXERCISE 13-8

Treasury StoCK ... e 255,000
CaSh o 255,000
Cash (2,000 X $54).......ccceermrmmimrrririirreeessmnnneneeeeeeeeeees 108,000
Treasury Stock (2,000 X $51) .....cceeeeerrrrrrrrrennnnn. 102,000
Paid-in Capital from Treasury Stock................ 6,000
Cash (2,000 X $49)......cccccerrrrrecrcmmrree s mreree e s 98,000
Paid-in Capital from Treasury Stock..........cccccc.uue.e. 4,000
Treasury Stock (2,000 X $51) ......ceeeerrrrrrrrreeennnn. 102,000
Cash (1,000 X $43).....cccccmrrrriircrinmmrreerrmeeree e e s s esnneas 43,000
Paid-in Capital from Treasury Stock
($6,000 — $4,000)...........cccmmeeerrrernnne e 2,000
Retained Earnings..........cccccceiimieeiiimscen s cseenn s eeeens 6,000
Treasury Stock (1,000 X $51) ......cceeeeerrrrrreeeennnn. 51,000

EXERCISE 13-9

(@) Feb.1 Cash (20,000 X $53).....cccceerrrrrrrrrrrnnnnn. 1,060,000
Preferred Stock (20,000 X $50)... 1,000,000
Paid-in Capital in Excess
of Par—Preferred

Stock (20,000 X $3).................. 60,000
July1 Cash (12,000 X $57) ..ccceeevrvrereeiiiricnnnne 684,000
Preferred Stock
(12,000 X $50) ......cuummmmeereerrnnnnn. 600,000

Paid-in Capital in Excess
of Par—Preferred
Stock (12,000 X $7).....cccceeuunen. 84,000
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EXERCISE 13-9 (Continued)

(b)

Preferred Stock

Date Explanation Ref. Debit Credit Balance
Feb. 1 1,000,000 1,000,000
July 1 600,000 1,600,000

Paid-in Capital in Excess of Par—Preferred Stock

Date Explanation Ref. Debit Credit Balance
Feb. 1 60,000 60,000
July 1 84,000 144,000

(c) Preferred stock—listed first in paid-in capital under capital stock.

Paid-in Capital in Excess of Par—Preferred Stock—Ilisted first under
additional paid-in capital.

EXERCISE 13-10

(@) CaSh ... ————————— 2,300,000
Preferred Stock (100,000 X $20)...........ccccceennnn. 2,000,000
Paid-in Capital in Excess of Par—
Preferred StocCK........coiiiieiimiiriieirecs crneeaeeans 300,000
(b) Total Dividend .........ccooeiiiiiiiiiriirrrrre s $ 500,000
Less: Preferred Stock Dividend
($2,000,000 X 6%)...cceeeerrrrrrrrreeenmnnnnnnnnseennnnas (120,000)
Common Stock Dividends.........ccccceveiieireiienieen s $ 380,000
(c) Total Dividend .........cccoovrriiiiiiieeeeeee e $ 500,000
Less: Preferred Stock Dividend
[($2,000,000 X 6%) X 3]..ccevrrrrmrrrrrrrrrririinnnnns (360,000)
Common Stock Dividends.........cooceermireireiienirnn s $ 140,000
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EXERCISE 13-11

May 2 Cash (10,000 X $13)...cccceriiiiiiiiiiiiiiciicccceeeeeen 130,000
Common Stock (10,000 X $10)..............
Paid-in Capital in Excess of Par—
Common Stock (10,000 X $3)............

10 Cash (10,000 X $60).........ccccccmmrrerrrrrirrssnnennnns 600,000
Preferred Stock (10,000 X $50)..............
Paid-in Capital in Excess of Par—
Preferred Stock (10,000 X $10)..........

15 Treasury StocK .....ceciiiiieeciiiiecce e e 15,000

31 Cash (500 X $16)......cccccmmrrrrrrrricccnnnee cennneeens 8,000
Treasury Stock (500 X $15) .......cccceeueee.
Paid-in Capital from Treasury
Stock (500 X $1) ..o .

100,000

30,000

500,000

100,000

15,000

7,500

500
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EXERCISE 13-12

EUDALEY CORPORATION
Partial Balance Sheet
December 31, 2014

Stockholders’ equity
Paid-in capital
Capital stock
8% Preferred stock, $100 par
value, noncumulative, 5,000
shares issued .........ccceeverreennnnn. $ 500,000
Common stock, no par, $5
stated value, 300,000
shares issued, and 290,000

shares outstanding .................. 1,500,000
Total capital stock ................. 2,000,000

Additional paid-in capital
In excess of par—

preferred stock .......cceeuuueeennns $280,000
In excess of stated value—
common stock.........cccceeeireennnnn. 900,000
Total additional paid-in
capital .......ccovveeiireiirees . 1,180,000
Total paid-in capital............... 3,180,000
Retained earnings.........ccccccoimmreiiiineenn e, 1,234,000
Total paid-in capital and
retained earnings............... 4,414,000
Less: Treasury stock (10,000 common
Shares)....ccccoiecciiirccr e, (120,000)
Total stockholders’ equity ...... $4,294.000
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EXERCISE 13-13

MEMO
To: President
From: Your name , Chief Accountant
Re: Questions about Stockholders’ Equity Section

Your memorandum about the stockholders’ equity section was received this
morning. | hope the following will answer your questions.

(@) Common stock outstanding is 590,000 shares. (Issued shares 600,000
less treasury shares 10,000.)

(b) The stated value of the common stock is $2 per share. (Common stock
issued $1,200,000 + 600,000 shares.)

(c) The par value of the preferred stock is $50 per share. (Preferred stock
$300,000 + 6,000 shares.)

(d) The dividend rate is 10%, or ($30,000 + $300,000).

(e) The Retained Earnings balance is still $1,858,000. Cumulative dividends
in arrears are only disclosed in the notes to the financial statements.

If | can be of further help, please contact me.
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EXERCISE 13-14

ALUMINUM COMPANY OF AMERICA

Stockholders’ equity (in millions of dollars)
Paid-in capital
Capital stock
Preferred stock, $100 par value, $3.75
dividend, cumulative, 557,740 shares
authorized, 557,649 shares issued and

546,024 shares outstanding ..........c............ $ 55
Common stock, $1 par value,
1,800,000,000 shares authorized,
924,600,000 issued and 844,800,000
shares outstanding.........ccccooviiiiiiiciiiininnns 925
Total capital stock ........ccceevemirieniiiieninnenns 980
Additional paid-in capital .........cccooremiriiiriceee e, 6,101
Total paid-in capital............cceenciiirrmnnnnnen. 7,081
Retained earnings .........cccccciiiireciimrescsscss s e s 7,428
Total paid-in capital and retained
(== 1 0 11 3 [ £= 14,509
Less: Treasury StoCK ........cooveeciiiiieiiiiriec e e (2,828)
Total stockholders’ equity ...................... 11,681
EXERCISE 13-15
Paid-in Capital
Capital Retained
Account Stock Additional Earnings Other
Common StocK.......cccccevvrveeniiirnennnnn. . X
Preferred Stock .......cccceeiirienniineene. X
Treasury StockK .......cccovvmreciiiieennninnes . X
Paid-in Capital in Excess of Par—
Preferred Stock .........cceueeiriennnnnnnes X
Paid-in Capital in Excess of
Stated Value—Common Stock...... X
Paid-in Capital from Treasury
StOCK ..o X

Retained Earnings..........cccecvveeninenn.
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(a) Jan.10

Mar.

Apr.

May

Aug.

Sept.

-—

SOLUTIONS TO PROBLEMS

PROBLEM 13-1A

Cash (80,000 X $4) .....cccevvrrvccviimmrrreernnnnn
Common Stock (80,000 X $2) .........
Paid-in Capital in Excess of

Stated Value—Common
Stock (80,000 X $2)........cceccurernnee

Cash (5,000 X $105) .......coevvereiiricccnnnnnns
Preferred Stock (5,000 X $100).......
Paid-in Capital in Excess of Par—

Preferred Stock (5,000 X $5).......

Common Stock (24,000 X $2) .........
Paid-in Capital in Excess of
Stated Value—Common
Stock ($85,000 — $48,000) ...........

Cash (80,000 X $4.50) .........cccceeeeenmnnnnnnes
Common Stock (80,000 X $2) .........
Paid-in Capital in Excess of

Stated Value—Common
Stock (80,000 X $2.50).................

Organization Expense........cccccceeevvverneenne.
Common Stock (10,000 X $2) .........
Paid-in Capital in Excess of

Stated Value—Common
Stock ($30,000 — $20,000) ...........

Cash (10,000 X $5) ......cccceeerrrnnnnnnnnnnnnnnens
Common Stock (10,000 X $2) .........
Paid-in Capital in Excess of

Stated Value—Common
Stock (10,000 X $3)......ccccevruerrunen

320,000

360,000

30,000

50,000

160,000

160,000

500,000

25,000

48,000

37,000

160,000

200,000

20,000

10,000

20,000

30,000
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PROBLEM 13-1A (Continued)

Nov. 1 Cash (1,000 X $109) ........cceeeieiicicciccnnnns 109,000
Preferred Stock (1,000 X $100)...... 100,000
Paid-in Capital in Excess of Par—
Preferred Stock (1,000 X $9) ...... 9,000

(b)
Preferred Stock
Date Explanation Ref. Debit Credit Balance
Mar. 1 J5 500,000 500,000
Nov. 1 J5 100,000 600,000
Common Stock
Date Explanation Ref. Debit Credit Balance
Jan. 10 J5 160,000 160,000
Apr. 1 J5 48,000 208,000
May 1 J5 160,000 368,000
Aug. 1 J5 20,000 388,000
Sept. 1 J5 20,000 408,000
Paid-in Capital in Excess of Par—Preferred Stock
Date Explanation Ref. Debit Credit Balance
Mar. 1 J5 25,000 25,000
Nov. 1 J5 9,000 34,000
Paid-in Capital in Excess of Stated Value—Common Stock
Date Explanation Ref. Debit Credit Balance
Jan. 10 J5 160,000 160,000
Apr. 1 J5 37,000 197,000
May 1 J5 200,000 397,000
Aug. 1 J5 10,000 407,000
Sept. 1 J5 30,000 437,000
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PROBLEM 13-1A (Continued)

(c) DELONG CORPORATION

Paid-in capital
Capital stock
8% Preferred stock, $100 par
value, 10,000 shares
authorized, 6,000 shares
issued and outstanding ..................
Common stock, no par, $2
stated value, 500,000 shares
authorized, 204,000 shares
issued and outstanding ..................
Total capital stock........................
Additional paid-in capital
In excess of par—

preferred stock .......ccceueiiiiiiiicnnnnnnnn. $ 34,000
In excess of stated value—
common StoCK .......ccvveireiiiiienirenenn, . _437.,000
Total additional paid-in
capital ..o e

Total paid-in capital .....................

$ 600,000
408,000

1,008,000

471,000
$1,479,000
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PROBLEM 13-2A

(@) Mar. 1 Treasury Stock (5,000 X $8) ...........cccuuu.ee 40,000
Cash . 40,000
June 1 Cash (1,000 X $12) ......oeemmrrrrrrrrrrerrreereeeenns 12,000
Treasury Stock (1,000 X $8).............. 8,000
Paid-in Capital from Treasury
Stock (1,000 X $4).........cceeveveeeennne. 4,000
Sept. 1 Cash (2,000 X $10) ......ccccvrvurrrrrerrrsnrnssanennns 20,000
Treasury Stock (2,000 X $8).............. 16,000
Paid-in Capital from Treasury
Stock (2,000 X $2)....cccceervrreccnnnnnen. 4,000
Dec. 1 Cash (1,000 X $7) ccoorreereieeieieeeccccccc e 7,000
Paid-in Capital from Treasury Stock
(1,000 X $1) ...onnnemmmeeeeerere e s 1,000
Treasury Stock (1,000 X $8).............. 8,000
31 Income Summary........ccccceemmeennrrrreennnsnennnes 30,000
Retained Earnings........cccccoveuiieennnnee. 30,000
(b)
Paid-in Capital from Treasury Stock
Date Explanation Ref. Debit Credit Balance
June 1 J10 4,000 4,000
Sept. 1 J10 4,000 8,000
Dec. 1 J10 1,000 7,000

Treasury Stock

Date Explanation Ref. Debit Credit Balance
Mar. 1 J10 40,000 40,000
June 1 J10 8,000 32,000
Sept. 1 J10 16,000 16,000
Dec. 1 J10 8,000 8,000
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PROBLEM 13-2A (Continued)

Retained Earnings

Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 100,000
Dec. 31 J10 30,000 130,000
(c) FECHTER CORPORATION
Stockholders’ equity
Paid-in capital
Capital stock
Common stock, $5 par,
100,000 shares issued and
99,000 outstanding.................. $500,000
Additional paid-in capital
In excess of par.........ccceeeeeeevveeeees $200,000
From treasury stock ................... 7,000
Total additional paid-in
capital.....cccooeeeiriniiien, 207,000
Total paid-in capital............. 707,000
Retained earnings........cccccoomimmiiiirrenciininnns 130,000
Total paid-in capital and
retained earnings............. 837,000
Less: Treasury stock (1,000 common
shares, at cost)........veeeiiriinncinnneen. (8,000)
Total stockholders’
(Yo []) o7 20U $829,000
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PROBLEM 13-3A

(=) I L= < T IR 0 1= o 120,000
Common Stock (25,000 X $1) ........ 25,000
Paid-in Capital in Excess of
Stated Value—Common
Stock ($120,000 — $25,000) ........ 95,000

Apr. 14  Cash......oecrr e 33,000
Paid-in Capital from
Treasury Stock

($33,000 - $30,000)..................... 3,000
Treasury Stock (6,000 X $5)........... 30,000

Sept. 3 Patents ... 35,000
Common Stock (5,000 X $1) .......... 5,000

Paid-in Capital in Excess of
Stated Value—Common

Stock ($35,000 — $5,000) ............ 30,000
Nov.10 Treasury StocK........cccovvmmmmmmncsirrrrneevennns 6,000
052 1] o 1 6,000
Dec.31 Income Summary......ccccccceceeiirrrenemnnsnnans 452,000
Retained Earnings........cccccoveuunnnee... 452,000
(b)
Preferred Stock
Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 400,000
Common Stock
Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 1,000,000
Feb. 1 J5 25,000 1,025,000
Sept. 3 J5 5,000 1,030,000
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PROBLEM 13-3A (Continued)

Paid-in Capital in Excess of Par—Preferred Stock

Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 100,000

Paid-in Capital in Excess of Stated Value—Common Stock

Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 1,450,000
Feb. 1 J5 95,000 1,545,000
Sept. 3 J5 30,000 1,575,000

Paid-in Capital from Treasury Stock

Date Explanation Ref. Debit Credit Balance
Apr. 14 J5 3,000 3,000

Retained Earnings

Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 1,816,000
Dec. 31 J5 452,000 2,268,000
Treasury Stock

Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 50,000
Apr. 14 J5 30,000 20,000
Nov. 10 J5 6,000 26,000
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PROBLEM 13-3A (Continued)

(c) CASTLE CORPORATION

Stockholders’ equity
Paid-in capital
Capital stock
8% Preferred stock, $50
par value, cumulative,
10,000 shares authorized,
8,000 shares issued and
outstanding......ccccccceeeeiiiiinnnnn. $ 400,000
Common stock, no par,
$1 stated value,
2,000,000 shares authorized,
1,030,000 shares issued
and 1,025,000 shares

outstanding.......ccccccovrimuninnnee. 1,030,000
Total capital stock .............. 1,430,000

Additional paid-in capital
In excess of par—

preferred stock .........ccccuuuuneee. $ 100,000
In excess of stated value—
common stocK........cceeureninnnen. 1,575,000
From treasury stock.................. 3,000
Total additional paid-in
capital......ccccovmveciiiiiennns 1,678,000
Total paid-in capital............ 3,108,000
Retained earnings (see Note X).............. 2,268,000
Total paid-in capital and
retained earnings............ 5,376,000
Less: Treasury stock (5,000 common
shares) ..o e, (26,000)
Total stockholders’
(=Y (111 4V $5,350,000

Note X: Dividends on preferred stock totaling $32,000 [8,000 X (8% X $50)]
are in arrears.
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-—

(a) Feb.

Mar. 1

July 1

Sept. 1

Dec. 1

Dec. 31

PROBLEM 13-4A

Preferred Stock (2,000 X $50).......

Paid-in Capital in Excess of
Par—Preferred Stock

($120,000 — $100,000).......

Cash (1,000 X $65) ......oeervreerennns

Preferred Stock (1,000 X $50).......

Paid-in Capital in Excess of
Par—Preferred Stock

(1,000 X $15) ceeeveereereereenne.

Cash (16,000 X $7) ........ccceeurnneene.

Common Stock (16,000 X $5).......

Paid-in Capital in Excess of
Par—Common Stock

(16,000 X $2)......ceerriuurernns

Patent (400 X $70)........ccccceemmnnnee
Preferred Stock (400 X $50).

Paid-in Capital in Excess of
Par—Preferred Stock

(400 X $20) ...oreeeeeeeereenes

Cash (8,000 X $7.50) ........cccevvuueen

Common Stock (8,000 X $5)
Paid-in Capital in Excess of
Par—Common Stock

(8,000 X $2.50)........ccerrn.ee

Income Summary...........ccevveeeeee.
Retained Earnings ...............

120,000

65,000

112,000

28,000

60,000

260,000

100,000

20,000

50,000

15,000

80,000

32,000

20,000

8,000

40,000

20,000

260,000
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PROBLEM 13-4A (Continued)

(b)
Preferred Stock

Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 500,000
Feb. 1 J2 100,000 600,000
Mar. 1 J2 50,000 650,000
Sept. 1 J2 20,000 670,000
Common Stock

Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 350,000
July 1 J2 80,000 430,000
Dec. 1 J2 40,000 470,000
Paid-in Capital in Excess of Par—Preferred Stock

Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 75,000
Feb. 1 J2 20,000 95,000
Mar. 1 J2 15,000 110,000
Sept. 1 J2 8,000 118,000
Paid-in Capital in Excess of Par—Common Stock

Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 700,000
July 1 J2 32,000 732,000
Dec. 1 J2 20,000 752,000
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PROBLEM 13-4A (Continued)

Retained Earnings

Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 300,000
Dec. 31 J2 260,000 560,000
(c) PECK CORPORATION

Stockholders’ equity
Paid-in capital
Capital stock

10% Preferred stock,
$50 par value,
20,000 shares authorized,
13,400 shares issued
and outstanding ............cccceviunnnes $ 670,000

Common stock, $5 par value,
125,000 shares authorized,

94,000 shares issued
and outstanding ..........cccccceeeneeeen. 470,000
Total capital stock................... 1,140,000

Additional paid-in capital
In excess of par—

preferred stock..........ccceeveveveeeeees $118,000
In excess of par—
common stock........ccccerveniiiiennnnee. 752,000
Total additional paid-in

(=T o] | £ | IR 870,000
Total paid-in capital................. 2,010,000
Retained earnings.........ccccomvmciiiieeciiine encannnn, 560,000
Total stockholders’ equity ...... $2,570,000
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PROBLEM 13-5A

GALINDO CORPORATION

Stockholders’ equity
Paid-in capital
Capital stock
8% Preferred stock,
$50 par noncumulative,
16,000 shares issued

and outstanding..................... $ 800,000
Common stock, no par, $5
stated value, 400,000
shares issued and 390,000
outstanding........cccccovvimnninnee. 2,000,000
Total capital stock .............. 2,800,000

Additional paid-in capital
In excess of par—

preferred stock ...................... $ 679,000
In excess of stated value—
common stocK.......ccceeuvenrnnnen. 1,600,000
From treasury stock.................. 10,000
Total additional paid-in
capital......ccccovmveciiiiiennns 2,289,000
Total paid-in capital............ 5,089,000
Retained earnings.........ccccccovimrenciiineennnan. 1,748,000
Total paid-in capital and
retained earnings............ 6,837,000
Less: Treasury stock (10,000
shares) ..o e, (130,000)
Total stockholders’
(=Y (111 4V $6,707.000
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(@ (1)

(2)

)

(4)

PROBLEM 13-6A

Preferred Stock (1,200 X $100) .........

Paid-in Capital in Excess of Par—

Preferred Stock........covvevmvnimnrnnnnnn.

Cash (400,000 X $7.00)........ccccccmmrrrrrrrrannns
Common Stock (400,000 X $2.50).......

Paid-in Capital in Excess of Stated

Value—Common Stock.................

Treasury Stock (1,500 X $11)........ccceennnn.
Cash ..o

Cash (500 X $14).....ccorerecereceee e e
Treasury Stock (500 X $11)...............

Paid-in Capital from Treasury

5] (o o3

140,000
120,000
20,000

2,800,000
1,000,000
1,800,000

16,500
16,500

7,000
5,500
1,500
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PROBLEM 13-6A (Continued)

(b) IRWIN CORPORATION

Stockholders’ equity
Paid-in capital
Capital stock
10% Preferred stock, $100
par value, noncumulative,
20,000 shares authorized,
1,200 shares issued and
outstanding........cccccceeeeeeeenn. $ 120,000
Common stock, no par, $2.50
stated value, 1,000,000
shares authorized, 400,000
shares issued, and 399,000

outstanding........cccccovrveennnnnnes 1,000,000
Total capital stock ............. 1,120,000

Additional paid-in capital
In excess of par—

preferred stock ..................... $ 20,000
In excess of stated value—
common stocK.........eeeuvrnnennen 1,800,000
From treasury stock................. 1,500
Total additional paid-in
capital.....cccccovrveeiiiinennnnn. 1,821,500
Total paid-in capital........... 2,941,500
Retained earnings..........cccccoiiveeiiiinennnns 82,000
Total paid-in capital and
retained earnings........... 3,023,500
Less: Treasury stock (1,000 common
Shares)....cccoviiiceiiicr e (11,000)
Total stockholders’
(=T (11 4V $3,012,500
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PROBLEM 13-1B

(@) Jan.10 Cash (100,000 X $3) .....cceevrrrrrrrrrrrrrernnnnnn. 300,000
Common Stock (100,000 X $2) ....... 200,000
Paid-in Capital in Excess of
Stated Value—Common

Stock (100,000 X $1)....ccceunuennnnnn. 100,000
Mar. 1 Cash (10,000 X $55) ....ccccevrvrrrrrrrrrrriennnnnn. 550,000
Preferred Stock (10,000 X $40)....... 400,000

Paid-in Capital in Excess of
Par—Preferred Stock
(10,000 X $15) ...eeeiiiiiriirirerereeeeenes 150,000

Apr. 1 Land..... e e 75,000
Common Stock (25,000 X $2) ......... 50,000
Paid-in Capital in Excess of
Stated Value—Common

Stock ($75,000 — $50,000) ........... 25,000
May 1 Cash (75,000 X $4) ........cccocerrriimrrrninnnnnns 300,000
Common Stock (75,000 X $2) ......... 150,000

Paid-in Capital in Excess of
Stated Value—Common

Stock (75,000 X $2).......ceeeeerereennn. 150,000
Aug. 1 Organization Expense.......ccccccorvrmuniirnen. 50,000
Common Stock (10,000 X $2) ......... 20,000

Paid-in Capital in Excess of
Stated Value—Common

Stock ($50,000 — $20,000) ........... 30,000
Sept. 1 Cash (5,000 X $6) ........ccervurrrirrrssersssnnennns 30,000
Common Stock (5,000 X $2) ........... 10,000

Paid-in Capital in Excess of
Stated Value—Common
Stock (5,000 X $4)......ccceemmmunnnnnnee. 20,000
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PROBLEM 13-1B (Continued)

Nov.1 Cash (2,000 X $60) ......ceemmmeerecrrrciirrernnnn. 120,000
Preferred Stock (2,000 X $40)....... 80,000
Paid-in Capital in Excess of
Par—Preferred Stock
(2,000 X $20).......ccccceeernrnnnnnnnnns 40,000

(b)
Preferred Stock
Date Explanation Ref. Debit Credit Balance
Mar. 1 J1 400,000 400,000
Nov. 1 J1 80,000 480,000
Common Stock
Date Explanation Ref. Debit Credit Balance
Jan. 10 J1 200,000 200,000
Apr. 1 J1 50,000 250,000
May 1 J1 150,000 400,000
Aug. 1 J1 20,000 420,000
Sept. 1 J1 10,000 430,000
Paid-in Capital in Excess of Par—Preferred Stock
Date Explanation Ref. Debit Credit Balance
Mar. 1 J1 150,000 150,000
Nov. 1 J1 40,000 190,000
Paid-in Capital in Excess of Stated Value—Common Stock
Date Explanation Ref. Debit Credit Balance
Jan. 10 J1 100,000 100,000
Apr. 1 J1 25,000 125,000
May 1 J1 150,000 275,000
Aug. 1 J1 30,000 305,000
Sept. 1 J1 20,000 325,000
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PROBLEM 13-1B (Continued)

(c) MENDOZA CORPORATION

Paid-in capital
Capital stock

6% Preferred stock,
$40 par value,
20,000 shares authorized,
12,000 shares issued
and outstanding.........cccccceererrrrrnnnn. $ 480,000

Common stock, no par,
$2 stated value,
500,000 shares authorized,
215,000 shares issued

and outstanding......c....ccceuiirnennnn. 430,000
Total capital stock...................... 910,000

Additional paid-in capital
In excess of par—

preferred stock .........cccceveereeereenenees $190,000
In excess of stated value—
common StockK ........ccccevrreeniiinnnnnnn. 325,000
Total additional paid-in
capital ..o, 515,000
Total paid-in capital ................... $1,425.000
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PROBLEM 13-2B

(@) Mar. 1 Treasury Stock (5,000 X $7) ........cccceeunnnuen 35,000
Cash ... e 35,000
June 1 Cash (1,000 X $10) .....oeememrrrrrrrrrrerrreereeeenns 10,000
Treasury Stock (1,000 X $7).............. 7,000
Paid-in Capital from Treasury
Stock (1,000 X $3).....ccceevvvveviiiennnne. 3,000
Sept. 1 Cash (2,000 X $9) ......ccccerrrvrmrnsrrrsiersnssnnns 18,000
Treasury Stock (2,000 X $7).............. 14,000
Paid-in Capital from Treasury
Stock (2,000 X $2)....ccccerrriiccunnnnen. 4,000
Dec. 1 Cash (1,000 X $5) ..cooerrriieiiiiiiicccccccccc e 5,000
Paid-in Capital from Treasury Stock
(1,000 X $2) .......mmmmmmeeeerrerreeeee s 2,000
Treasury Stock (1,000 X $7).............. 7,000
31 Income Summary........ccccceemmeennrrrreennnsnennnes 80,000
Retained Earnings........cccccoveuiieennnnee. 80,000
(b)
Paid-in Capital from Treasury Stock
Date Explanation Ref. Debit Credit Balance
June 1 J12 3,000 3,000
Sept. 1 J12 4,000 7,000
Dec. 1 J12 2,000 5,000
Treasury Stock
Date Explanation Ref. Debit Credit Balance
Mar. 1 J12 35,000 35,000
June 1 J12 7,000 28,000
Sept. 1 J12 14,000 14,000
Dec. 1 J12 7,000 7,000
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PROBLEM 13-2B (Continued)

Retained Earnings

Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 100,000
Dec. 31 J12 80,000 180,000
(c) HAWTHORNE CORPORATION
Stockholders’ equity
Paid-in capital
Capital stock
Common stock, $1 par,
400,000 shares issued and
399,000 outstanding............... $ 400,000
Additional paid-in capital
In excess of par—
common stocK.........cceerenrirennns $500,000
From treasury stock .................. 5,000
Total additional paid-in
capital.........oeeeeiiiiinninnns 505,000
Total paid-in capital............ 905,000
Retained earnings........ccccomveeiiirieniiinn venes 180,000
Total paid-in capital and
retained earnings............ 1,085,000
Less: Treasury stock (1,000 shares
at cost).onnnii e, (7,000)
Total stockholders’
(Yo [F]) oY 20U $1.078,000
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PROBLEM 13-3B

(@) Feb. 1 Cash..iceirree e 25,500
Common Stock (3,000 X $5) ......... 15,000
Paid-in Capital in Excess of
Stated Value—Common

StOCK ... 10,500
Mar. 20 Treasury Stock (1,500 X $8) ................. 12,000
Cash..cccrrr e 12,000
June 14 Cash..iiiciicircrrrr e e e 36,000
Paid-in Capital from
Treasury Stock .......cccccevrveenninnes 4,000
Treasury Stock (4,000 X $8).......... 32,000
Sept. 3 Patents ....ccooeeeiiieiiricr e, 19,000
Common Stock (2,000 X $5) ......... 10,000

Paid-in Capital in Excess of
Stated Value—Common

StOoCK ... s 9,000
Dec. 31 Income Summary........ccccceeeirveenciireennnns 350,000
Retained Earnings......ccccccoceueeenenns 350,000
(b)
Preferred Stock
Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 300,000
Common Stock
Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 1,000,000
Feb. 1 J1 15,000 1,015,000
Sept. 3 J1 10,000 1,025,000
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PROBLEM 13-3B (Continued)

Paid-in Capital in Excess of Par—Preferred Stock

Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 20,000
Paid-in Capital in Excess of Stated Value—Common Stock

Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 425,000
Feb. 1 J1 10,500 435,500
Sept. 3 J1 9,000 444,500
Paid-in Capital from Treasury Stock

Date Explanation Ref. Debit Credit Balance
June 14 J1 4,000 4,000
Retained Earnings

Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 488,000
Dec. 31 J1 350,000 838,000
Treasury Stock

Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 40,000
Mar. 20 J1 12,000 52,000
June 14 J1 32,000 20,000
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PROBLEM 13-3B (Continued)

(c) LORE CORPORATION

Stockholders’ equity
Paid-in capital
Capital stock
10% Preferred stock, $100
par value, noncumulative,
5,000 shares authorized,
3,000 shares issued and
outstanding......cccccceeeeeiiiiiiinnnnnn. $ 300,000
Common stock, no par,
$5 stated value,
300,000 shares authorized,
205,000 shares issued
and 202,500 shares

outstanding........cccccoimimeiiinnnnnnn. 1,025,000
Total capital stock ................. 1,325,000

Additional paid-in capital
In excess of par—

preferred stock ........cccceeeeeeeennnn. $ 20,000
In excess of stated value—
common stock.......oceeeieinninnnee 444,500
From treasury stock...................... 4,000
Total additional paid-in
(2= 1 o] - | [ . 468,500
Total paid-in capital............... 1,793,500
Retained earnings.........cccccceiivreciiineenn e, 838,000
Total paid-in capital and
retained earnings............... 2,631,500
Less: Treasury stock (2,500 common
Shares)....cccoiecci e, (20,000)
Total stockholders’
(=T (111 4V $2,611,500
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PROBLEM 13-4B

(a) Feb.

-—
-
)
S
o
o
o
o
=3
=3

Preferred Stock (1,000 X $40)......... 40,000
Paid-in Capital in Excess of
Par—Preferred Stock

($65,000 — $40,000)............cceen... 25,000

Mar. 1 Cash (2,000 X $60)......ccccceevrrrrrrerrrrrrennnns 120,000
Preferred Stock (2,000 X $40)......... 80,000
Paid-in Capital in Excess of

Par—Preferred Stock
(2,000 X $20) .....ccccevvrrrrrrrrrrreeennnns 40,000

July 1 Cash (20,000 X $5.80)......cccccevvrrrrrrrrrnnnnes 116,000
Common Stock (20,000 X $5)......... 100,000
Paid-in Capital in Excess of

Par—Common Stock
(20,000 X $0.80) ....cceevvvrrrrrrrrrrennees 16,000

Sept. 1 Patent (800 X $65)........cccceevinmmneneennenn. 52,000
Preferred Stock (800 X $40)............ 32,000
Paid-in Capital in Excess of

Par—Preferred Stock
(800 X $25) ..cemeeeeecicririreeeeeeeeee e 20,000

Dec. 1 Cash (10,000 X $6)......ccccerrrrrrrrrrererrrnnnnns 60,000
Common Stock (10,000 X $5) ......... 50,000
Paid-in Capital in Excess of

Par—Common Stock
(10,000 X $1) ..eeeniiiriiiirerreeeeeeeeeeees 10,000

Dec.31 Income Summary......ccccccovvmmmmmmmnncsnrreee e 210,000
Retained Earnings ......c...cccvveeeeeeee. 210,000
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PROBLEM 13-4B (Continued)

(b)
Preferred Stock

Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 200,000
Feb. 1 J2 40,000 240,000
Mar. 1 J2 80,000 320,000
Sept. 1 J2 32,000 352,000
Common Stock

Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 350,000
July 1 J2 100,000 450,000
Dec. 1 J2 50,000 500,000
Paid-in Capital in Excess of Par—Preferred Stock

Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 60,000
Feb. 1 J2 25,000 85,000
Mar. 1 J2 40,000 125,000
Sept. 1 J2 20,000 145,000
Paid-in Capital in Excess of Par—Common Stock

Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 700,000
July 1 J2 16,000 716,000
Dec. 1 J2 10,000 726,000
Retained Earnings

Date Explanation Ref. Debit Credit Balance
Jan. 1 Balance v 300,000
Dec. 31 J2 210,000 510,000
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PROBLEM 13-4B (Continued)

(c) GERSTNER CORPORATION

Stockholders’ equity
Paid-in capital
Capital stock

10%, Preferred stock,
$40 par value,
10,000 shares authorized,
8,800 shares issued
and outstanding...................... $ 352,000

Common stock, $5 par value,
200,000 shares authorized,
100,000 shares issued

and outstanding...................... 500,000
Total capital stock............... 852,000
Additional paid-in capital
In excess of par—preferred........ $145,000
In excess of par—
common stock........cccceremnnnenne. 726,000
Total additional paid-in
capital.....cccooeeeiriniiien, 871,000
Total paid-in capital............. 1,723,000
Retained earnings........cccccoomireiiiirnenciininnns 510,000
Total stockholders’
(=T [ 11 4778 $2,233,000
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PROBLEM 13-5B

ALPERS CORPORATION

Stockholders’ equity
Paid-in capital
Capital stock
8% Preferred stock, $100
par value, noncumulative,
3,000 shares issued
and outstanding...........cccoeeu..... $ 300,000
Common stock, no par, $10
stated value, 120,000
shares issued, and 112,000

outstanding........ccccccovivieniinnee. 1,200,000
Total capital stock ................ 1,500,000

Additional paid-in capital
In excess of par—

preferred stock .............c.......... $288,400
In excess of stated value—
common StocK........cceeuirnirninnnes 690,000
From treasury stock.................... 6,000
Total additional paid-in
(2= 1 o] - | [ 984,400
Total paid-in capital.............. 2,484,400
Retained earnings.........ccccccvimreeciiineenn e, 826,000
Total paid-in capital and
retained earnings.............. 3,310,400
Less: Treasury stock (8,000 common
Shares)......ccovverreeeeccrr e e (88,000)
Total stockholders’
[=To [T 320 $3,222,400

13-48 Copyright © 2013 John Wiley & Sons, Inc.  Weygandt, Accounting Principles, 11/e, Solutions Manual  (For Instructor Use Only)



PROBLEM 13-6B

6= ) I ) - 1 4 e [ 296,000
Preferred Stock (2,400 X $100) ......... 240,000
Paid-in Capital in Excess of Par—
Preferred Stock.......ccccevmirenirmniennnes 56,000
(2) Cash (400,000 X $16).......cccoeerrerrrsunersnenns . 6,400,000
Common Stock (400,000 X $5).......... 2,000,000
Paid-in Capital in Excess of Stated
Value—Common Stock ................. 4,400,000
(3) Treasury Stock (1,500 X $22).................... 33,000
Cash ... s 33,000
(4) Cash (500 X $28)......ccccccmmmmmrmrrrrrreereeessesnnnns 14,000
Treasury Stock (500 X $22)............... 11,000
Paid-in Capital from Treasury
£33 oY o< T 3,000
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PROBLEM 13-6B (Continued)

(b) KINGSLEY CORPORATION

Stockholders’ equity
Paid-in capital
Capital stock
8% Preferred stock, $100
par value, noncumulative,
40,000 shares authorized,
2,400 shares issued and
outstanding..........cccceeeeeinne. $ 240,000
Common stock, no par, $5
stated value, 2,000,000
shares authorized, 400,000
shares issued, and 399,000

outstanding........cccccovrvmnnineee. 2,000,000
Total capital stock .............. 2,240,000

Additional paid-in capital
In excess of par—

preferred stock .........ccccuuuneee. $ 56,000
In excess of stated value—
common stocK.......cceeuvenrnnnnn. 4,400,000
From treasury stock ................. 3,000
Total additional paid-in
(2= 1 o7 - | [ 4,459,000
Total paid-in capital............ 6,699,000
Retained earnings.........ccccccovimieiiiinnnnnnees 560,000
Total paid-in capital and
retained earnings............ 7,259,000
Less: Treasury stock (1,000 common
shares)....ccccooiiceiiiiccre e (22,000)
Total stockholders’
(=Y (111 4V $7.237.000
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CCC13

CONTINUING COOKIE CHRONICLE

(a) 1.

One of the major advantages of issuing preferred shares is that
the preferred stockholder does not have voting rights. In this case,
Curtis’s dad and Natalie’s grandmother can participate in the future
success of Cookie & Coffee Creations Inc. (by receiving annual
dividends) without attempting to influence any decisions that would
require shareholder approval.

Both will receive an annual dividend as long as the dividend is
declared. Any additional dividends declared and paid will be paid to
the common shareholders. This could prove to be another advantage
to both Natalie and Curtis if the company is successful and has
excess cash to pay out dividends.

It is possible to pay for the $750 legal bill by issuing common
shares. However, the cost principle still applies. Cost must equal
the cash equivalent price, which is generally the fair value of the
consideration given up. If this amount cannot be determined, we
then look to the fair market value of the consideration received to
determine the cash equivalent price. In this case, Curtis and Natalie
are receiving shares with a value of $1 per share. This $1 per share
is the estimated fair value of the shares being given up in return for
the legal fee expense. As a result, 750 shares should be given up,
valued at $750, which is the value of the legal fees.
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CCC13 (Continued)

GENERAL JOURNAL J1
Date Account Titles and Explanation Debit Credit
(b)
Nov. 1 Cash..cr e, 19,130
Accounts Receivable ...................... 900
Inventory .......oeeciiiiiciirr s 1,650
Equipment.........cccooiiii e 3,500
Common StocK........cermirenireirnnnees 25,180
(c)
Nov. 1 Cash..iiiciriircrcir e 10,000
Preferred Stock.......cooeuirmrenrennnnn. 10,000
1 Legal Expense.......cccoceiimieeiiireennnnn. . 750
Common StocK.......ccceevrvenirrennnnne. 750
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CCC13 (Continued)

(d)

COOKIE & COFFEE CREATIONS INC.

Balance Sheet
November 1, 2014

Assets
Current assets

INVENEOTY ... s e s
Total current assets.....c.cccoeeirieiriciiicce e,

Plant and equipment
Equipment......... e e
Total assets......ccccovieeciiiciircr s

Stockholders’ Equity

Paid-in capital
$0.50 preferred stock, no par value, noncumulative,
10,000 authorized, 2,000 shares issued.............
Common stock, no par value, 100,000
shares authorized, 25,930 shares issued...........
Total paid-in capital..........cccccceiiiiiciiiir e,
Retained earnings (defiCit) .....c..cccoveeeiiimiecciiiics e,
Total stockholders’ equity ........ccccoovrmciiiiiencinnnnn.

$10,000

25,930

35,930
(750)

$35,180
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BYP 13-1 FINANCIAL REPORTING PROBLEM

(@) The common stock of Apple has no par value.

(b) There are 1.8 billion shares authorized of which 929.3 million are issued.
The percentage is 51.6% (929.3 + 1,800).
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BYP 13-2 COMPARATIVE ANALYSIS PROBLEM

(a) Par value:
Coca-Cola, $0.25 per share.
PepsiCo, $0.01 %/ per share.

(b) Percentage of authorized shares issued:
Coca-Cola, 3,520 + 5,600 = 62.9%.
PepsiCo, 1,865 + 3,600 = 51.8%.

(c) Treasury shares, year-end 2011:
Coca-Cola, 1,257 million shares.
PepsiCo, 301 million shares.

(d) Common or capital stock shares outstanding, year-end 2011:

Coca-Cola, 3,520 million — 1,257 million = 2,263 million.
PepsiCo, 1,865 million — 301 million = 1,564 million.
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BYP 13-3 COMPARATIVE ANALYSIS PROBLEM

(a) Par value:
Amazon, $0.01 per share.
Wal-Mart, $0.10 per share.

(b) Percentage of authorized shares issued:
Amazon, 473 + 5,000 = 9.5%.
Wal-Mart, 3,418 + 11,000 = 31.1%.

(c) Treasury shares, year-end 2011:
Amazon, 18* million shares.
Wal-Mart, None.

(d) Common stock shares outstanding, year-end 2011:
Amazon, 455 million.
Wal-Mart, 3,418 million.

*473 — 455
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BYP 13-4 REAL-WORLD FOCUS

Answers will vary depending on the company chosen by the student.
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BYP 13-5 DECISION MAKING ACROSS THE ORGANIZATION

(a)

(b)

(c)

The cumulative provision means that preferred stockholders must be
paid both current-year dividends and unpaid prior-year dividends before
common stockholders receive any dividends. When preferred stock is
cumulative, preferred dividends not declared in a given period are called
dividends in arrears.

The market price of a share of stock is caused by many factors. Among
the factors to be considered are:

(1) the corporation’s anticipated future earnings,
(2) its expected dividend rate per share,

(3) its current financial position,

(4) the current state of the economy, and

(5) the current state of the securities markets.

Par value is the amount assigned to each share of stock in the corporate
charter. Par value may be any amount selected by the corporation.
Generally, the amount of par value is quite low because states often levy
a tax on the corporation based on par value.

Par value is not indicative of the worth or market value of the stock. The
significance of par value is a legal matter. Par value represents the legal
capital per share that must be retained in the business for the protection
of corporate creditors.

A corporation may acquire treasury stock to:

(1) Reissue the shares to officers and employees under bonus and stock
compensation plans.

(2) Signal to the stock market that management believes the stock is
underpriced in the hope of enhancing its market value.

(3) Have additional shares available for use in the acquisition of other
companies.

(4) Reduce the number of shares outstanding and thereby increase
earnings per share.

(5) Rid the company of disgruntled investors, perhaps to avoid a
takeover.
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BYP 13-5 (Continued)

Treasury stock is not an asset. If treasury stock was reported as an
asset, then unissued stock should also be shown as an asset, also
an erroneous conclusion. Rather than being an asset, treasury stock
reduces stockholder claims on corporate assets. This effect is correctly

shown by reporting treasury stock as a deduction from total paid-in
capital and retained earnings.
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BYP 13-6 COMMUNICATION ACTIVITY

Dear Uncle Joe:

Thanks for your recent letter and for asking me to explain four terms.

Here are my explanations:

(1) Authorized stock is the total amount of stock that a corporation is given
permission to sell as indicated in its charter. If all authorized stock is
sold, a corporation must obtain consent of the state to amend its charter
before it can issue additional shares.

(2) Issued stock is the amount of stock that has been sold either directly
to investors or indirectly through an investment banking firm.

(3) Outstanding stock is capital stock that has been issued and is being
held by stockholders.

(4) Preferred stock is capital stock that has contractual preferences over
common stock in certain areas.

| really enjoy my accounting classes and especially like the accounting
instructors. | hope your corporation does well, and | wish you continued
success with your inventions.

Regards,
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BYP 13-7 ETHICS CASE

(a) The stakeholders in this situation are:

The director of Pigua’s R & D division.

The president of Pigua.

The shareholders of Pigua.

Those who live in the environment to be sprayed by the new
(untested) chemical.

vvYvyy

(b) The president is risking the environment and everything and everybody in
it that is exposed to this new chemical in order to enhance his company’s
sales and to preserve his job. Presidents and entrepreneurs frequently
take risks in performing their leadership functions, but this action appears
to be irresponsible and unethical.

(c) A parent company may protect itself against loss and most reasonable
business risks by establishing separate subsidiary corporations but
whether it can insulate itself against this type of action is a matter of
state corporate law and criminal law.
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BYP 13-8 ALL ABOUT YOU

(@) Ernstand Young LLP was the CPA firm that audited Apple’s financial
statements.

(b) Apple’s basic earnings per share was $28.05 and its diluted earnings
per share was $27.68.

(c) Net sales in 2011 were $108,249 million.
(d) Capital expenditures (spending) totaled $4,260 million in 2011.
(e) Buildings are depreciated over a 30 year useful life by Apple.

(f) Proceeds from issuance of common stock were $831 million in 2011.
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BYP 13-9 FASB CODIFICATION ACTIVITY

(a)

(b)

(c)

Common Stock is a stock that is subordinate to all other stock of the
issuer. Also called common shares.

Preferred Stock is a security that has preferential rights compared to
common stock.

Shares include various forms of ownership that may not take the legal
form of securities (for example, partnership interests), as well as other
interests, including those that are liabilities in substance but not in
form. (Business entities have interest holders that are commonly
known by specialized names, such as stockholders, partners, and
proprietors, and by more general names, such as investors, but all are
encompassed by the descriptive term owners. Equity of business
entities is, thus, commonly known by several names, such as owners’
equity, stockholders’ equity, ownership, equity capital, partners’ capital,
and proprietorship. Some entities [for example, mutual organizations]
do not have stockholders, partners, or proprietors in the usual sense
of those terms but do have participants whose interests are essentially
ownership interests, residual interests, or both.)
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IFRS EXERCISES

IFRS 131
May 10 Cash (1,000 X $18) .....cceerrrriiciiimmrrrerrrreseeree s 18,000

Share Capital—Ordinary (1,000 X $10) ...... 10,000

Share Premium—Ordinary (1,000 X $8)..... 8,000
IFRS 13-2

MEENEN CORPORATION
Partial Statement of Financial Position (Partial)
December 31, 2014

Equity

Share capital—ordinary, €10 par value,
5,000 shares issued and 4,500 shares

outstanding ... €50,000
Share premium—ordinary.........ccccccciimrreiiirreennnnn. 10,000
Retained earnings..........cccccceiimmeeciiinie s s 45,000
Less: Treasury shares (500 shares)..........cccc....... 11,000
Total equUity....cceeeiiiieeiiirec e e €94.,000
IFRS 13-3
Mar. 2 Organization Expense.........ccccccciimmeeniiinnnnncnnnnns 30,000
Share Capital—Ordinary (5,000 X $1) ........ 5,000
Share Premium—Ordinary.........ccccccevrreenen. 25,000
8 L0 1= Y 170 T o 375,000
Share Capital—Ordinary (60,000 X $1) ...... 60,000
Share Premium—Ordinary.........cccccceeeneneen. 315,000
July 11 Cash (1,000 X $110) ...cccoerrririrriiiiieeeeeeeceee e 110,000
Share Capital—Preference
(1,000 X $100) ...cooevemmrreeeee e e e 100,000
Share Premium—Preference
(1,000 X $10) ccoeerrreenmmreee e e e e 10,000
Nov. 28 Treasury Shares..........ccccceeiirreeiiirrcen s eeeennnn. 80,000
Cash ... 80,000
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IFRS 13-4 INTERNATIONAL FINANCIAL REPORTING PROBLEM

6= ) TR O T3 o T 14
Share Capital—Ordinary......cc...cccevvreeeeee. 0
Share Premium—Ordinary ......c...cccccuuueeee 14
(b) Share capital Common stock
Share premium Paid-in capital in excess of par
Merger reserve Accumulated other comprehensive income
Equity reserve Accumulated other comprehensive income
Retained earnings Retained earnings
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